ID:1210 P- 1

P g SR
2 W B #E7E Boal R
By 3% SFI07T4E06 H 21 H HoEketk - 105 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

KR IR 10. 00| FA % 150 1, 500 1, 446 1,431 1,423
IENE O 10. 00| AHxf 481 4,810 2,376 1,785 972
H ¥ E % 15. 00 | AH%F 933 13,995 1,242 835 540

E 9 NAEL o 0. 20| FH%f 240 48 108
H % i 3. 00| FHxf 226 678 1,296| 1,290 864
i A [T 1. 00| FHxf 215 215 756 412 194
ENIE sool A%t 7| 35| 3,240 2,484 1,080
e T X Bk 5. 00 | FHx} 209 1,045 2,268 1,663 648
e 2.00| k%t | 76| 152 o72|  soo| 648
= O 4. 00| FH%f 548 2,192 1,458| 1,176 648
[ I\ w5 5. 00| FH%f 150 7501 1,620 1,383 864
EN N 500 fxt|  336] 1,680 1,944 1,671 648

~7 h< |k F 3. 00| FHxf 31 93 1, 404

SR A F 1. 00| AR} 10 10 2, 808

BEnE 5O 10. 00| AH % 40 400 1, 404
A—T 4 £ IH 10. 00| FA % 136 1, 360 1,944 1, 654 648
£ A L 10. 00| AHxf 936 9,360 1,620 1,361 1,080
L&A £ B 10. 00 | #856f 1, 285 12,850 1,188| 1,058 54
==l F £ 4. 00| AH%F 620 2, 480 972 580 108

L xon & A 4. 00 | FHxF 3 12 6, 696
AMEE (i 0. 10| FA%f 1, 450 145 162 99 65
ZDEH £ ¥ 0. 20 | #H%} 900 180 59 49 43
LU E % 0. 20 | FHx} 450 90 78 62 54
K A oAk L 10. 00| AHxf 32 3201 7,560| 5,451 3,780




ID:1210 p- 2

P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE SFI07T4E06 H 21 H eI Dt e/ 36 k> (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

LEV T AU K | 17.00| FHxF 36 612 7,020| 5,133 432
PE i A4 5. 00 | #Hx} 90 450 4,320 3,389 3,024
TIUxT K B 0. 30 | FHxf 400 120 475 432 378
4 FoEk L 0. 50 | FHxf 112 56 410 378 335
[EIIN i 15. 50| fHxf 475 7,365| 5,400| 4,421 3,024
A=Y i 10. 00| AHxf 30 300 4,860| 4,248| 3,564
AvavE 7 4 U ¥ | 13.00] fHxf 95 1,235 4,174 3,815| 2,387
S X & 0. 25| FH*} 859 215 594 497 302




